(@) x (b) x ax b = a®b™* o] AT 1, xxy ] FHL?

@ 4 @ 5 ® 6 @7 3)8

(@2)* % (b1)Y x ax b8 = gPHLpbo+6 — g9pld
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D)A%B*
Q @ 24B* ® 4AB?
@ 6A2B* (3 8A2B2

(62)10 X 320 — (2 % 3)20 % 320 — 220 % 340
— (210)2 % (310)4 — A2B4
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(6a®b — 4ab + 2b) + (=2b)

® 3a%>-4a-2 @ 3d>+2a+2
@ -3a®>-2a+1 @—3a2+2a—1

® -3a®+4a-2

~&B

(6ab — 4ab + 2b) + (-2b)
- 6a2b — 4ab + 2b

N -2b
=-3a>+2a-1
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A=2x—y, B=-x+2y & 1], 2A - 3B £ At 4127

D x+4y @ x-8y ® Tx+ 4y
@7x—8y ® Tx+2y

2A -3B =2(2x-y) - 3(-x+2y) = 7x— 8y
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=84S ~1.231453145 - - 9] =8ty A5 o, 257 oFf 100
Gk Z}ﬂJ 222 p et S, a+ b FHS Floiet

-1.23145°| B2 &3] o] 22} 4 74

100-1 = 4x24+ 30|22 254 ofefl 100 1A 2] 9] £2t=
4o]t}.

La+b=38
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x=0364 -.-©Oetsta
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Lx=[ O]
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@ 364, 50 ® 367, 990

B ~
x=0364 ---@zgtstL
1000 x @ - 10 x D5}
990x = 361
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~ 990
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13. o2 = x =1.24242424 -

@ Feoltt
@ 1240 & vepd 4 Qlrt,
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14. [ {8y x (&%)} = 222t A | [ etof gk 2o

D —4x5y8 @ -8x%yS @—16x8y7

@ —16x5° ® —4x®y7

D = —2x%y* x {8x2y X (x2y)2}
= —2x%y* x 8x2%y x xy?
= —16x8y"
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te2 S0l A4S E°lstH YE olob] Rl s F
£ w2 9 e By Bt

a<0¥ W, ax - 8a > 2ax + 10a & A4St

A9 A olghs SlobAldl. x7t = Tl Fo R,

13 IH A4S SHH —ax > 1847} FZ0H].

A ae F5oIYZE —a > 0 °1ZF .

A 1 ol s S0lU7Zt - o RO R il < - 120

7oA. ‘
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oA owuz 038 @ae )39

%

Y Eo] 2utE ti5tE Aot o231 2t

a <09 9, ax — 8a > 2ax + 10a & A4S}

AR s 94 ol sfiobAldl. x7t = At e FoE.
WS . O3 AXRE S —ax > 18a7F H AU,

AE : at &401UZE —a > 0 oA,

A : oL a £ LHOIUT - a B FHOE iw

> 12k e A,

%3] . 1’%4—3}% x> -18°] H=74.

g a < 0dS G URAT —a > 05 BZ5HA] Fokn
529 HJ P2 HHEO] M E A0l E 2w B OdE
dho} x > —18 0] obd x < —18 o]2kl s}t
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Aake] 58 x A,
500x + 1000 < 4000
500x < 3000
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4% O A& 400g ol F712 B2 ¢ YolA 1% olst9] A8 &S
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